OTtuer: MNeparory no npegmeTty

NMpoxopoB Bnaaumup AHatonbeBud4, 2019/2020 yye6HbIN roa, UHcopmaTuka

YcneBaemMocTb

Cpennun | % % OO
Knacc Mepwopn, Ob6yuatoLmxcs H/ HeT 6§n1l':|l yz:neB kay. | COY
Otn | Xop | Yo | Heyn A OCB | 34 | H3 OLIeHKM ET (%)

1-5 yeTBepTh | 14 4 4 6 |0 0|0 0 |0 |O 3,86 100,0 [57,14 | 62,29
2-51 4yeTBEpPTDL | 14 6 6 2 |0 0|0 0 |0 |O 4,29 100,0 |[85,71 75,43

5A

(VIicbopm 01) 3-9 yeTBepTh | 14 7 7 0 |0 010 0 [0 |O 4,5 100,0 | 100,0 | 82,00
4-9 yeTBepTHL | 14 7 7 0 |0 010 0 [0 |O 4,5 100,0 | 100,0 | 82,00
lop 14 6 8 0 |0 010 0 [0 |O 4,43 100,0 | 100,0 | 79,43
1-a yetBepTb | 15 3 9 3 10 010 0 (0 |O 4,0 100,0 80,0 |65,60
2-5 4yeTBEpPTL | 15 6 9 0 |0 010 0 [0 |O 4.4 100,0 | 100,0 | 78,40

5b

(Vicpopm 01) 3-9 yeTBepTL | 15 12 |3 0 |0 010 0 [0 |O 4.8 100,0 | 100,0 | 92,80
4-9 yeTBepTb | 15 12 |3 0 |0 010 0 (0 |O 4.8 100,0 | 100,0 (92,80
lop 15 11 |4 0 |0 010 0 [0 |O 4,73 100,0 | 100,0 | 90,40
1-9 yetBepTb | 13 4 5 4 |0 010 0 [0 |O 4.0 100,0 | 69,23 | 66,46
2-54eTBEpTDb | 14 7 5 2 |0 010 0 [0 |O 4,36 100,0 | 85,71 78,00

5B

(VInchopm 01) 3-9 yeTBepTh | 15 7 8 0 |0 010 0 [0 |O 4,47 100,0 | 100,0 | 80,80
4-a yeTBepTb | 15 9 4 2 |0 010 0 [0 |O 4,47 100,0 | 86,67 | 81,87
lopn 15 7 8 0 |0 010 0 [0 |O 4.47 100,0 | 100,0 | 80,80
1-9 yeTBEpTL | 16 3 7 6 |0 010 0 [0 |O 3,81 100,0 | 62,5 |60,25
2-9 4yeTBepTh | 16 4 9 2 |1 010 0 |0 |O 4,0 93,75 | 81,25 [ 66,50

7A

(VHcp. 1) 3-9 yeTBEpPTL | 16 3 4 9 |0 010 0 [0 |O 3,63 100,0 | 43,75 | 55,00
4-9 yeTBEpTL | 16 5 5 6 |0 010 0 [0 |O 3,94 100,0 | 62,5 |64,75
lopg 16 3 10 |3 |0 010 0 [0 |O 4.0 100,0 | 81,25 | 65,50
1-a yeTBepThb | 14 4 5 5 1|0 010 0 [0 |O 3,93 100,0 |64,29 | 64,29
2-5 4yeTBEPTDL | 14 4 5 5 10 010 0 [0 |O 3,93 100,0 | 64,29 | 64,29

7B

(VInch. 1) 3-51 yeTBepTh | 14 3 8 3 10 010 0 [0 |O 4,0 100,0 | 78,57 | 65,71
4-9 yetBepTh | 14 5 3 6 |0 010 0 [0 |O 3,93 100,0 | 57,14 | 64,86
lon 14 4 5 510 010 0 [0 |O 3,93 100,0 | 64,29 | 64,29
1-a yeTBepTb | 17 5 9 3 10 010 0 [0 |O 4,12 100,0 | 82,35 | 69,65
2-914yeTBEpTb | 16 12 |3 1 |0 010 0 [0 |O 4,69 100,0 | 93,75 | 89,25

7B

(VIHcb. 1) 3-91 yeTBEpTH | 16 5 7 4 |0 010 0 [0 |O 4,06 100,0 | 75,0 |68,25
4-5 yeTBeEpTL | 16 9 4 310 010 0 [0 |O 4,38 100,0 | 81,25 79,00
lop 16 9 5 2 |0 010 0 [0 |O 4,44 100,0 | 87,5 |80,75
1-a yeTBepTb | 15 9 5 1 |0 010 0 [0 |O 4,53 100,0 [93,33 (83,73
2-54yeTBEpTb | 15 5 8 2 |0 010 0 [0 |O 4,2 100,0 | 86,67 | 72,27

8A

(Mndbopm 01) 3-51 yeTBepTh | 15 7 6 2 |0 010 0 [0 |O 4,33 100,0 | 86,67 | 77,07
4-9 yeTBepTb | 15 9 5 1 |0 010 0 [0 |O 4,53 100,0 | 93,33 |83,73
lon 15 8 6 1 |0 010 0 [0 |O 4,47 100,0 |93,33|81,33

8 b 1-9 yeTBepTb | 15 4 6 5 10 010 0 [0 |O 3,93 100,0 | 66,67 | 64,27

(NHpopm-01)
2-54yeTBeEpTb | 15 2 4 9 |0 010 0 [0 |O 3,53 100,0 | 40,0 |52,00
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3-a yeTBeEpPTH | 15 3 4 8 |0 0|0 0 |0 |O 3,67 100,0 | 46,67 | 56,27
4-9 yetBepTb | 15 5 9 110 010 0 |0 |O 4,27 100,0 | 93,33 74,13
lon 15 4 7 4 |0 0|0 0 |0 |O 4,0 100,0 |73,33 (66,13
1-a yeTBeEpTH | 14 1 1 (2 (0 0|0 0 |0 |O 3,93 100,0 | 85,71 | 62,57
2-91 yeTBepTb | 14 3 9 2 |0 0|0 0 |0 |O 4,07 100,0 | 85,71 67,71

9A

(ViHcbopm 01) 3-a YeTBeEpPTH | 14 0 8 6 |0 0|0 0 |0 |O 3,57 100,0 | 57,14 [ 52,00
4-9 yeTBeEpTb | 14 3 9 2 10 0|0 0 |0 |O 4,07 100,0 | 85,71 67,71
lon 14 3 10 (1 (O 0|0 0 |0 |O 4,14 100,0 | 92,86 | 69,71
1-a yeTBepTH | 14 3 11 |0 (O 010 0 |0 |O 4,21 100,0 |100,0 | 71,71
2-9 yeTBepTHb | 14 10 |3 17 10 010 0 (0 |O 4,64 100,0 |92,86 | 87,71

9b

(Vrchopm 01) 3-9 yeTBepTh | 14 7 7 0 |0 0|0 0 |0 |O 4,5 100,0 | 100,0 | 82,00
4-9 yetBepTb | 14 13 |0 1 1]0 0|0 0 |0 |O 4,86 100,0 |92,86 [ 95,43
lon 14 1 |3 0 |0 0|0 0 |0 |O 4,79 100,0 | 100,0 [ 92,29
1-9 yeTBepTh | 12 2 6 4 10 0|0 0 |0 |O 3,83 100,0 | 66,67 | 60,67
2-91 yeTBepTh | 12 5 2 5 |0 0|0 0 |0 |O 4,0 100,0 | 58,33 (67,33

9B

(Vicbopm 01) 3-9 YeTBeEpPTH | 12 0 5 7 |0 0|0 0 |0 |O 3,42 100,0 | 41,67 | 47,67
4-9 yeTBepTb | 12 4 2 6 |0 0|0 0 |0 |O 3,83 100,0 | 50,0 62,00
log 12 3 5 4 |0 0|0 0 |0 |O 3,92 100,0 | 66,67 | 63,67
1-51 yeTBepTH | 14 3 10 (1 (O 0|0 0 |0 |O 4,14 100,0 | 92,86 | 69,71
2-51 yeTBepTH | 14 8 4 2 |0 0|0 0 |0 |O 4,43 100,0 | 85,71 | 80,57

or

(Mndbopm 01) 3-51 yeTBepTH | 14 3 9 2 10 010 0 |0 |O 4,07 100,0 | 85,71 67,71
4-7 yetBepTb | 14 8 5 1 1]0 0|0 0 |0 |O 4,5 100,0 | 92,86 | 82,57
lon 14 6 8 0 |0 0|0 0 |0 |O 4,43 100,0 | 100,0 [ 79,43
1-n cemecTp | 19 7 12 |0 (O 0|0 0 |0 |O 4,37 100,0 | 100,0 | 77,26

10 A N

(Vincbopm 01) 2-ih cemecTp | 19 5 14 (0 (O 0|0 0 |0 |O 4,26 100,0 | 100,0 | 73,47
log 19 7 12 (0 (O 0|0 0 |0 |O 4,37 100,0 | 100,0 | 77,26
1- cemecTtp | 9 1 7 1 1]0 0|0 0 |0 |O 4,0 100,0 | 88,89 | 64,89

106 N

(Mndbopm-01) 2-1 cemecTp | 9 2 6 110 0 (0 0 |0 |O 4,11 100,0 | 88,89 | 68,89
log 9 2 7 0 |0 0|0 0 |0 |O 4,22 100,0 | 100,0 | 72,00
1-in cemecTtp | 15 12 |2 1 1]0 0|0 0 |0 |O 4,73 100,0 |93,33 (90,93

10B .

(Vicpopm 01) 2-ih cemecTp | 14 9 4 1 1]0 0|0 0 |0 |O 4,57 100,0 | 92,86 | 85,14
lon 14 12 |1 1 1]0 0|0 0 |0 |O 4,79 100,0 |92,86 | 92,86
1-n cemecTp | 19 1 |8 0 |0 0|0 0 |0 |O 4,58 100,0 | 100,0 | 84,84

(1;"'{6‘(*) 1) 2-ih cemecTp | 19 6 13 (0 (O 0|0 0 |0 |O 4,32 100,0 | 100,0 | 75,37
lop 19 12 |7 0 |0 0|0 0 |0 |O 4,63 100,0 | 100,0 | 86,74
1-n cemecTp |7 6 1 0 |0 0|0 0 |0 |O 4,86 100,0 | 100,0 [ 94,86

(1J|HE£$3 1) 2-ii cemecTp |7 1 5 1 1]0 0|0 0 |0 |O 4,0 100,0 | 85,71 | 65,14
lon 7 5 2 0 |0 0|0 0 |0 |O 4,71 100,0 | 100,0 | 89,71
1- cemecTp | 8 2 6 0 |0 0|0 0 |0 |O 4,25 100,0 | 100,0 | 73,00

(1IJ|HB¢ 1) 2-1i cemecTp |8 0 5 3 |0 0|0 0 |0 |O 3,63 100,0 | 62,5 [53,50
lon 8 1 7 0 |0 0|0 0 |0 |O 4,13 100,0 |100,0 | 68,50

https://schools.school.mosreg.ru/AsyncProgressReportHandler.ashx?a=printProgressTeacherSubjectReportData&tid=e3308b74-cd74-41ee-acbhO...

2/3




@ LUkonbHbIN nopTan
sevas  Mockosckoi obnactu
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